 3C have read 1  reading books this year. 3A have read 1  reading books this year. How many have they read in total? 
Jamie drank  1  bottles of juice yesterday. Today he drank  of a bottle. How many bottles did he drink in total? 
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 May uses 3  cups of blueberries and 1  cups of raspberries to make a fruit salad. How many cups of fruit does she use in total?
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Kya has 2   chocolate brownies in her lunchbox. She eats    of the brownie at lunch. How much brownie is left?
Christina runs for   of a mile at the gym. Molly runs for    of a mile. How many more miles does Christina run? 
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